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Unit 11: Circles Test Review

1. Use the figure.

Name the circle. C X

Name a radius of the circle. ;(#}Jt | (xi—{’;"_{ a(—f))

Name the diameter of the circle. /\ | j;

Name a chord. '—-\ | 5 J 1A( : P r\ L
e
Name a tangent. 1> |

3
Name a secant. | (.

2. Find the exact circumference and area given that:

A. radius= 4cm B. diameter= 12in
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3. The wheels on Elliot’s truck each have a circumference of 22w inches. Determine the radius of each
wheel.Determine the area of the wheel.
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4. The diameter of a circular swimming pool is 15 feet. Find the exact circumference and area
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5. Given that the circumference is 20w km, find the exact area.
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6. In(C, mAB =72. Assume all lines which appear to be diameters are actual diameters.
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8. Find the exact LENGTH of PO in (OR (in terms of pi). N ET
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9. Find the exact LENGTH of PO in OR (in terms of pi) if the m<PRQ is 120° and the diameter is 24.
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10. Points X'and ¥ lic on (OP so that PX = 5 meters and m2XPY = 90. Find the exact length of XY.
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11. In (OO, AB =12 centimeters, OF =4 centimeters, OF =4 centimeters, and mEB =123°. Find CF. Find the

radius. Find mAB ’é@ C:%:,:,\;LA s
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B.If mDF=63°, what is mFE? .
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13 Chords XY and WV are equidistant from the center of (OO. If XY =2x+ 30 and WV =5x — 12, find x.
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C M \QMW:Fmd the radius of a circle if a 48~ meter chord is 7 meters from the center. Draw it! :
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"0 15. Find msABC.
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a. 50 i
b. 70

[,,) 16. Find x.
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17. IfmZX =126 and m<W= 57, find: | W e cd ckere %
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18. If AB is tangent to (DC at 4, find BC and AB.
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“— 20. PO, OR, RS, and SP are tangent to (OX. Find RS.
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d. cannot tell
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Find x.

Y1 (o +54)
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) 2d Find the radius of the cn‘cle whose equation is (x + 3)* + (y — 7)> = 289. (h J K) Cenlar
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30. Find the center of the circle whose equation is (x + 11)2 + (y — 7)2 =121, ]
a. (-11,7) ¢. (121,49 (1, 7T “}
b (11,-7) d 11 S
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{ ' 31. Find the equation of a circle with center (0 , 0) and radius 4. - Vo
a,  xFgyR =i, c. (x—A4P+(y—4y= 1(;“ +) =1k
b. x*+)2=16. d 4x+4y=16
~ _lo.¥ ST TP ) e Y
‘\_:’ ) 32. Find the equation of a circle whose center is at (2, 3) and radius is 6. ( X =2 }* i ( \,lr -3) =5 S
2 (x+2)Y+@y+3)2= c. (x+2P+(y+3) =36
b. (x-2P+((y-32= d (x-2P2+(y-3)2=36
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34. Find the equation of OP. |
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Use OO w1th APQR circumscribed.
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